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= 3,066
= 920
Al 2,146
307 elztol & 6,132 5,984 148
= 3,066
& 920
Al 2,146
05 2IZtRAE = 6,132 5,984 148
O UH2ASAHE MH2SAL 285 X3
6,132,000 *14] 6,132
= 3,066
S 920
Al 2,146
LYEHTNEEAMTZIB2AXNA(EX) 10,000 10,000 0
= 3,000
Al 7,000
307 elztol & 10,000 10,000 0
= 3,000
Al 7,000
05 212t =S 10,000 10,000 0
O &8 IA=SA 2208 29 N
10,000,000& * 14! 10,000
== 3,000
Al 7,000
HH2IJH(HBYNSH) 598,916 583,644 16,272
= 106,368
Jl 74,719
s 31,370




SN BYUDSE
B WHSHAH|(HMDSE)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 386,459
eIg =g 569,120 543,848 16,272
= 106,368
Jl 74,719
== 31,370
Al 346,663
oA (B NSH) 273,465 271,033 2,432
01 el2it| 268,574 266,474 2,100
01 2 88,712 94,568 A5,856
O =u=22fse 88,712
O ANZelaesy
12,3213+ 12 +50A| 2+ 123 88,712
02 JIEtME = 7,393 7,275 118
0 z=i22+E 7,393
O NZelaesy
12,3213 x 1 +50AI 2t 123 7,393
03 SR (RINHA) 222+ 172,469 164,631 7,838
O HEMESLoIdE SRAHZZEN URY 129,367
O Jlgad=s 69,119
SEAL 7 2,170,430 x7 B *42] 60,773
AEA 1Y 2,086,280 x1E 43| 8,346
O =28 29,751
A7
15,5703 x7 & *20A 2+ 123 26,158
AEA 1Y
14,9702 x 1 +20A1 2t 122 3,593
O &=l 14,336
2EAL TS 02,2502 7 H+23] 12,632
oEAH1E 851,760 x1H*23] 1,704
O Axts 9,921
AEAM 7H 83,0703 7 x15& 8,723
YA 1 79,8502 x1&*15& 1,198
O JIE=E 6,240
B <= At 40,0002 x4 x 122 1,920
- JIEF OtF 20,0002 x4 x 122 960
- =M 60,0002 3 * 122 2,160
- A 0= 100,0002«1&x12& 1,200
O HIotSAIAE 12 43,102
O Jlzs 2,103,540« 18~ 128 25,243
O EHZAHI 130,000& x 1= 123 1,560
O dois 2,233,540« 1H 53 11,168
O z2R=E
16,0302 x1&*20A[ 2+ 122 3,848
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